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a) log,32 =

1
c) log, x=

e) logs5 =

1 _
g) 1og3? =

MDD x ERDE.
a) logyx =3

c) logzx =2

log, M =r, log, N =5 EB<EM =a",

RDBDHBDDITEDIEE SRR L.
a) log,(M x N) =log, M + log, N

c) log, M" =nlog, M
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b) 10g25 5=
d) 10g4 16 =
f) log,2 =

h) logg /2 =

~_1
b) log,x = >

d) 10g27 x=3

N =a* ERED. CDOELBHERZFARLT

M
b) loga<ﬁ) = log, M —log, N
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p=log,2, q=1log,3ETDEE, RDE%= p, q THRE.
a) log, 8 = b) log, 18 =

c) log, 12 = d) log, 1.5 =
RDE L2 DI EHEE L.
3 3
a) log, i log, 5=

V5

1
b) 3 10g3 5— 1Og3 T =

c) log,(3+ \/5) + log, (3 — \/5) =

d) 3logs 15 —logs 135 =

(6] mOBLDIABHECEL.

a) %loglo 125 + loglo % — 10g10 03 =

A B C
b) log, 3 + log, I + log, 1 =

log, 3 =m DES, log, 6, logy2 % m THRB.

a) log, 6 =

[B1TH<]
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b) log, b -logyc-log.a =1
logy, a

a) log, b =

(9] BI#y = log, x CDVTRDRICHTIEED x DiE%E N TERE. 12120, 205 = 1.414 T 3.

RIBZFRB LT, BHEHM y = log, x DTS T[T,




4Dy =3%, y =37, y=logzx, y =—logsx DT> I%=HIF.

232 (FAHDBED. 1=f2U, loge2 = 0.3010 &ET 3.

YIS, HBBOHSR%E 1 BRI BDTEIC, ZDOHRED % EESEND. TOHSRE[W
P ESRI-EDEBRTDE, HENEED % BITRICSEHONDD. 12120 log;o 3 = 0.4771 £T D.
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